Pl —7
OV WHEELS

BRISBANE - (07) 3277 8677 PERTH - (08) 9277 6266
ACN 007 725 082

‘maurllins wwheecls

ADELAIDE - (08) 8282 3600 MELBOURNE - (03) 9357 2333 SYDNEY - (02) 9725 2555

Date: FEBRUARY 201

WHEEL CAPS - TO SUIT CSA PASSENGER & SUV ALLOY WHEELS - (1 of 2)

P1

P2

| 57.7

401-C153

P3

P5

401-C158S

S57.7

401-C158B

57.2

401-847

P9

% .
401-619
P8
60 |
13.51
| 57.7 |
401-C153D

65.2

401-8C033

Page 1 of 8




‘maurllins wwheecls

ADELAIDE - (08) 8282 3600 MELBOURNE - (03) 9357 2333 SYDNEY - (02) 9725 2555

ALl=QY"WHEELS

BRISBANE - (07) 3277 8677 PERTH - (08) 9277 6266

ACN 007 725 082 Date: FEBRUARY 201

WHEEL CAPS - TO SUIT CSA PASSENGER & SUV ALLOY WHEELS - (2 of 2)

P11

P12

57.8

401-C154 401-619M

401-6198B

Page 2 of 8




Al

l=@Y"WHEELS

BRISBANE - (07) 3277 8677 PERTH - (08) 9277 6266
ACN 007 725 082

‘maurllins wwheecls

ADELAIDE - (08) 8282 3600 MELBOURNE - (03) 9357 2333 SYDNEY - (02) 9725 2555

Date: FEBRUARY 201

SMALL CAPS - TO SUIT CSA 4x4 ALLOY WHEELS (1 of 1)

S2 S3
[ &=
ALLOY WHEELS
8
| 78 |
171
I
| 72.5 | | 721 |
401-130B 401-155GB
401-130GB 401-C155B 401-537
S4 S5 _ S6
& 83.6
" 78 ) I_L_I
171
1 52.3
| 72.1 |
- 80.8
401-C155A 401-C178-SC

Page 3 0f 8




-
P 7|
CALEOVWHEELS

‘mullins uwheels

ADELAIDE - (08) 8282 3600 MELBOURNE - (03) 9357 2333 SYDNEY - (02) 9725 2555

BRISBANE - (07) 3277 8677 PERTH - (08) 9277 6266
ACN 007 725 082

Date: FEBRUARY 201

LARGE CAPS - TO SUIT CSA 4x4 ALLOY WHEELS - (1 of 3)

L1

3 X BLACK HEX SCREW 6MMX20MM
SCREW P/NO 405-M6X20B

401-C137-6SB

401-C137-6GB
6 STUD ONE PIECE

L2

L3

3 X BLACK HEX SCREW 6MMX20MM
SCREW P/NO 405-M6X20B

3 X CHROME HEX SCREW 6MMX30MM
SCREW P/NO 405-M6X30C

401-C141-6GB

401-C141-6SB
6 STUD 2 PIECE

L4

3 X CHROME HEX SCREW 6MMX30MM
SCREW P/NO 405-M6X30C

401-C141-5GB
5 STUD 2 PIECE

401-137-5SB
401-137-5GB
5 STUD ONE PIECE
LS
52.2

3 X CHROME HEX SCREW 6MMX16MM
SCREW P/NO 405-M6X16C

401-C140
6 STUD 2 PIECE

3 X CHROME HEX SCREW 6MMX16MM
SCREW P/NO 405-M6X16C

401-C139
5 STUD 2 PIECE

2 X CHROME HEX SCREW 6MMX30MM
SCREW P/NO 405-M6X30C

401-89-9765
6 STUD 2 PIECE

2 X CHROME HEX SCREW 6MMX30MM
SCREW P/NO 405-M6X30C

401-89-9750
5 STUD 2 PIECE

3 X BLACK HEX SCREWS 6MMX16MM
SCREW P/NO 405-M6X16B

401-132-6B

401-132-6GB
6 STUD ONE PIECE

Page 4 of 8




‘mullins uwheels

ADELAIDE - (08) 8282 3600 MELBOURNE - (03) 9357 2333 SYDNEY - (02) 9725 2555

BRISBANE - (07) 3277 8677 PERTH - (08) 9277 6266
ACN 007 725 082

Date: FEBRUARY 201

LARGE CAPS - TO SUIT CSA 4x4 ALLOY WHEELS - (2 of 3)

L10

52.3

3 X BLACK HEX SCREWS 6MMX16MM
SCREW P/NO 405-M6X16B

401-C139B
5 STUD 2 PIECE

L11

L12

52.2

3 X BLACK HEX SCREWS 6MMX16MM
SCREW P/NO 405-M6X16B

ONE PIECE 401-C140B2
TWO PIECE 401-C140B
6 STUD

109
64

108

iR

END CAP SUIT
401-C139B

401-C140B
401-C140B-EC

L13

3 X BLACK HEX SCREWS 6MMX16MM
SCREW P/NO 405-M6X16B

401-131-5B
5 STUD ONE PIECE

L14

401-180-6S
6 STUD CLIP IN 2 PIECE

401-180-5S
5 STUD CLIP IN 2 PIECE

L16

401-180-6L

6 STUD CLIP IN 2 PIECE

L17

401-180-6XS

6 STUD CLIP IN ONE PIECE

L18
129.3
| 66
3 le
55.7

3 X CHROME HEX SCREW 6MMX25MM
SCREW P/NO 405-M6X25C

401-6019-L55GB

401-6019-L55
6 STUD ONE PIECE

Page 5 of 8




-
P 7
WHEELS

‘maurllins wwheecls

ADELAIDE - (08) 8282 3600 MELBOURNE - (03) 9357 2333 SYDNEY - (02) 9725 2555

BRISBANE - (07) 3277 8677 PERTH - (08) 9277 6266
ACN 007 725 082

Date: FEBRUARY 201

LARGE CAPS - TO SUIT CSA 4x4 ALLOY WHEELS - (3 of 3)

L19

L20

| 137

3 X CHROME SCREWS 4MM X13MM
SCREW P/NO 405-M4X13

401-173
6 STUD 2 PIECE

L21

Y 64

| 137 |

3 X CHROME SCREWS 4MM X13MM
SCREW P/NO 405-M4X13

401-173S

Wy

! 137 |

3 X CHROME SCREWS 4MM X13MM
SCREW P/NO 405-M4X13

401-173-5
5 STUD 2 PIECE

L22

END CAP SUIT
401-173
401-173sS
401-173-5

401-172

6 STUD 2 PIECE
L23 -

3 X CHROME SCREWS 4MM X13MM
SCREW P/NO 405-M4X13

401-156

Page 6 of 8




Al

P —7 -

QY WHEELS

muriiim s vwihhecclss

ADELAIDE - (08) 8282 3600 MELBOURNE - (03) 9357 2333 SYDNEY - (02) 9725 2555

BRISBANE - (07) 3277 8677 PERTH - (08) 9277 6266
ACN 007 725 082

Date: FEBRUARY 201

CAPS - TO SUIT CSA STEEL WHEELS - (1 of 2)

ST1 ST2 ST3
e
T4
80 80 ,_é,\
‘ﬁﬁ % 4J_9 65
| 134 | | 134
— T —
401-170B 401-170C 401-140
6 STUD NUT FITMENT 6 STUD NUT FITMENT
ST4 ST5 ST6
sy e
80 80
7 = \ N
66 66
| 88 | | 92 |
401-140B 401-145 401-145B
ST7 ST8 STo
jp—a—d
& /
Bl i _—
80 109 109
{ \ ( ‘i"\ rr\iﬂ
66 80 80
! a8 ! L 121 L L 121 L
401-145W 401-157 401-157B

Page 7 of 8




Al

P —7 -

s I aRiiinnes uwsih=e=ls

ADELAIDE - (08) 8282 3600 MELBOURNE - (03) 9357 2333 SYDNEY - (02) 9725 2555

BRISBANE - (07) 3277 8677 PERTH - (08) 9277 6266
ACN 007 725 082

Date: FEBRUARY 201

CAPS - TO SUIT CSA STEEL WHEELS - (2 of 2)

ST10 ST11 ST12
o
\ /
~ y
401-158 401-158B 401-160
2 PIECE
ST13 ST14
END CAP SUIT
401-160
401-164
401-164 401-169
2 PIECE

Page 8 of 8




